Chapter 7 CAS Activity – Teacher Notes
In this activity, students are given two options for an investment of $10 000. The first offers you simple interest at 8% per annum. The second offers you 4% per annum compounded annually.  Students are to use their TI Nspire CAS™ to define functions for these two situations and answer the questions below.

· Define functions to represent the two investments.

· Find the amounts after 10, 20, 30 and 40 years.

· Estimate a time when the two investments would be equal both graphically and algebraically.
· Use the CAS to find the exact time when the investments would be equal.

· Convert this time to years, months and days.
· Find the time it takes for each investment to grow to $100 000.

· Find the interest rate needed for the investment to grow to $1 000 000 after 40 years.
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There is a Finance Solver on the TI Nspire™ CAS that is almost identical to the TVM Solver on the TI83/84 Plus. To access the solver, open a new document with a Calculator page. Press menu, and select 8:Finance. Then, select 1:Finance Solver.
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Use the e key to move through the fields. Remember to use a negative value for the present value. Move back to the I(%) cell.
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The Finance Solver can be used for several portions of this activity, but it cannot handle the Simple Interest problems or the solution to the problem where the two investments are equal.

The use of the Solve command forces students to use the formulae in the chapter to build functions to represent investments.

